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T i s m # B E G FLE B FHEILE
- H29 GE4) | H30GES) | H29GEF) | H30GES) | H29 GR%) | H30GEEF)
1FEEXE 1 1 1.00 1.00 97.90% 99.65%
1FFALEIFHEAXE 183 204 2.44 1.80 95.08% 95.80%
TAR—= 3FEAUL1EAXED 393 438 1.83 1.58 96.40% 96.59%
1EAUE 48 61 1.31 1.51 97.66% 97.30%
218 625 704 1.97 1.63 96.11% 96.43%
1FEEXE 5 11 2.60 2.00 93.88% 93.48%
1FFALEIFHEAXE 16 7 2.06 1.86 93.67% 94.21%
et SFHFAULE1EAXR 7 11 2.00 1.91 93.49% 95.64%
1EAUE 9 10 1.11 1.40 97.80% 99.54%
218 37 39 1.89 1.79 94.67% 95.77%
1FEEXE 9 8 3.89 2.00 90.87% 92.79%
1FFALE3FHFAXE 13 35 4.46 3.34 92.72% 90.20%
ESIE 3FEAUL1EAXED 11 6 2.45 1.83 94.20% 92.53%
1EAUE 4 10 1.50 1.50 95.92% 95.37%
218 37 59 3.41 2.69 93.05% 91.66%
1FEEXE 7 11 1.86 1.64 90.63% 96.91%
1FFALE3FHFAXE 17 21 3.24 2.67 91.57% 93.74%
“ETE 3FEAUL1EAXED 5 4 2.60 1.75 94.92% 95.84%
1EAUE 2 6 1.50 1.00 98.76% 99.79%
218 31 42 2.71 2.07 92.36% 95.64%
1FEEXE 0
1FFALE3FHEAXD 84 79 3.05 2.82 94.02% 94.42%
s T=H 3FEAUL1EAXED 21 32 2.14 2.38 96.04% 95.65%
1EAUE 0
218 105 111 2.87 2.69 94.42% 94.78%
1FEEXE 17 3 247 4.00 95.89% 95.67%
1FFALE3FHEAXE 55 64 3.60 3.58 94.38% 91.73%
Zhith 3FEAUL1EAXED 19 17 3.32 1.82 92.31% 94.94%
1EAUE [ 8 2.63 2.75 94.54% 91.37%
218 99 92 3.27 3.20 93.99% 92.42%
1FEEXE 39 34 2.67 2.03 93.58% 94.80%
1FFALE3FHEAXE 368 410 2.85 2.45 94.36% 94.29%
&I 3FEAUL1EAXED 456 508 1.93 1.65 96.09% 96.40%
1EAUE 71 95 1.45 1.57 97.26% 96.99%
£18 934 1,047 2.29 1.97 95.39% 95.58%
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